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1. Identify the pairs of congruent angles and corresponding sides.
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2. Determine whether the polygons are similar. If so, write the similarity ratio and similarity
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3. Adining room is 18ft long and 14ft wide. On a blueprint for the house, the dining room is 3.5in |
long. To the nearest tenth of an inch, what is the width of the dining room on the blueprint? #Mmeal o
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4. Determine whether the polygons with the given vertices are similar. (Can the pre-image be

mapped to the image?)
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5. Apply the dilation D to the polygon with the given vertices. Describe the dilation.
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6. Determine if AABC ~ADEF. If so, write the similarity ratio and a similarity staterment.
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7. Figure ABCD with vertices given below is translated 6 units left and 7 units down. It is then
dilated to produce the similar figure EFGH with the vertices given below. By what scale is the
figure dilated? g0, 15), 8014, 7), ct6, 71, D6, 11— A (4, @) B'(®,0) € (0,8) U (o, 1)
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8. Explain why the triangles are SImllar and then flnd the ength of AB.
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9. Given that ATUO~ARSO, find the coordinates of U and the scale factor.
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